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for the questions

1. Answer the following as directed : 1x8=8
(a) Free international trade maximizes
world output E
() through countries reducing taxes
imposed

(i) through countries specializing in
production of goods they are best
suited for
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2, i
Write short notes on any four of the following

(Within 150 words

each) :
(a i
) Importance of International trade
() Adverse effects of MNCs
() Outw i
(d_ | ard looking trade strategy
) Componen '
s )
€xchange ° demand for forel”
(e . : -
) Lending operations of ym
‘36 Ia' | )
- X;i?s how Adam smith’s Absolute
intern;:ge. theory provides the basis © f
imitag 2\ transactions, Point out the ;g
tions of the theory 9+3=1
Or
) Expla;
. Exp i
theOI:YmOf (.:leaﬂy the Heckscher-On™”
is theor;n temationa\l trade. How dO.eS
cost theny :upplement the compar’ at;‘ﬁflz
4' (a)
What
. . ?
Distip,.. > . DPortfolj stment
mvtlngmsh between d.o e o
Sthent, Giye gt 209 P st 3
Portfoliq lnvestmentarguments a%+5*4¢1
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4x4=16

L
( cont™”

i
J)

5.

6'

;
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(§)

Or

What is the meaning of international
capital flows? Discuss the significance
of international capital flows in case of
technological -change and balance of
payments. Mention three dangers of
foreign capital flows. 2+6+3=11

(b)

What are the main types of tariffs? -
Examine how imposition of tariff
protects the home economy through
import restriction and import substitu-
tion. 4+7=11

(@)

Or

(b) () Give arguments in favour of free
trade policy. - 5

(i) Examine the  rationale of

protectionist commercial policy as

a mean of ‘industrialization in a
developing economy. 6

(a) Discuss briefly the meaning of (i) fixed
exchange rate, (i) flexible exchange rate
and (iij) managed floating exchange rate.

4+4+3=11

( Turn Over )




(b)

(b)

" What are the g

(6)

Or

What d
currenC;?y\c;vLL Mean by devaluation of
their curr Y do countries devaluate
tions.of d enmes? Examine the implica-
rate. evaluation on foreign exchange

' 2+3+6=11

_ . bjectives of WTO?
OD;sctlrl:Z briefly about wro agreements
(TRJMS) :Zléted Investment measures
s intellectyg] prope ight
). e ngs % 11
+ —

Or

What factors caused the breakdown of

Bretton Woods
s :
reforms made in iﬁ{Stem? Outline the

system by IMF
Bretton Woods System

* ok &
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